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Exercise

1. Find the inverse of the matrix  using

column transformation.

Watch Video Solution

A = [
2 1

7 4
]

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_uowqO4nry5iv
https://dl.doubtnut.com/l/_MYB6uk2IjQZu


2.   


Find AB

Watch Video Solution

A =
⎡
⎢
⎣

2 3

4 5

2 1

⎤
⎥
⎦
B = [

1 −2 3

−4 2 5
]

3.   


If C is the matrix obtained from A by the

transformation  , find CB

Watch Video Solution

A =
⎡
⎢
⎣

2 3

4 5

2 1

⎤
⎥
⎦
B = [

1 −2 3

−4 2 5
]

R1 → 2R1

4. If  Find  and 4A.A = [
1 2

4 −3
] A2

https://dl.doubtnut.com/l/_MYB6uk2IjQZu
https://dl.doubtnut.com/l/_UZOcrl9312IW
https://dl.doubtnut.com/l/_dQhZYgzbbpfo


Watch Video Solution

5. If , then 

 is equal to a)  b)  c)  d)

Watch Video Solution

f(x) = x2 + 4x − 5 and A = [
1 2

4 −3
]

f(A) [
0 −4

8 8
] [

2 1

2 0
] [

1 1

1 0
]

[
8 4

8 0
]

6. The co-operative store of a particular school has 10

dozen physics books, 8 dozen chemistry books and 5

dozen mathematics books. Their selling prices are

Rs.65.70, Rs. 43.20 and Rs 76.50 respectively. Find by

https://dl.doubtnut.com/l/_dQhZYgzbbpfo
https://dl.doubtnut.com/l/_0l7x2LTiymN0
https://dl.doubtnut.com/l/_3gRjvgO5BtmQ


matrix method, the total amount of the store will

receive from selling all these items.

Watch Video Solution

7. Find the values of x,y,z respectively, if

Watch Video Solution

⎡
⎢
⎣

x

−y + z

x − y − z

⎤
⎥
⎦

=
⎡
⎢
⎣

3

5

0

⎤
⎥
⎦

8. Find the value of a,b and c from the following

equations, 

[
a − b 2a + c

2a − b 3c + d
] = [

−1 5

0 13
]

https://dl.doubtnut.com/l/_3gRjvgO5BtmQ
https://dl.doubtnut.com/l/_jYlWs2h3yxL8
https://dl.doubtnut.com/l/_9ixWPNmx6KL4


Watch Video Solution

9. Compute the following: 

Watch Video Solution

[
cos2 x sin2 x

sin2 x cos2 x
] + [

sin2 x cos2 x

cos2 x sin2 x
]

10. If ,  

, then Find A+B.

Watch Video Solution

A =
⎡
⎢
⎣

2 −1

3 4

1 0

⎤
⎥
⎦
B =

⎡
⎢
⎣

−1 3

5 0

2 −2

⎤
⎥
⎦

C = [
3 1 −2

2 0 5
]

https://dl.doubtnut.com/l/_9ixWPNmx6KL4
https://dl.doubtnut.com/l/_ivE85ShrWkbQ
https://dl.doubtnut.com/l/_9eHIjs8VHvFq


11. If ,  

, then Find (A+B)C.

Watch Video Solution

A =
⎡
⎢
⎣

2 −1

3 4

1 0

⎤
⎥
⎦
B =

⎡
⎢
⎣

−1 3

5 0

2 −2

⎤
⎥
⎦

C = [
3 1 −2

2 0 5
]

12. Using elementry transformation, find the inverse of

the matrices. 

Watch Video Solution

A = [
4 5

3 4
]

https://dl.doubtnut.com/l/_eUax2i0kdGop
https://dl.doubtnut.com/l/_6z4XX0YlHTv1


13. If  is such that , then A)


 B)  C)

D)

Watch Video Solution

A = [
α β

γ −α
] A2 = I

1 + α2 + βγ = 0 1 − α2 + βγ = 0

1 − α2 − βγ = 0 1 + α2 − βγ = 0

14. Consider the matrix  Find 

 and show that it is symmetric.

Watch Video Solution

A =
⎡
⎢
⎣

2 3 −1

−1 4 2

6 0 8

⎤
⎥
⎦

A + AT

https://dl.doubtnut.com/l/_JGS3JjrAjJTB
https://dl.doubtnut.com/l/_re5qdoLrVQLa


15. Consider the matrix  Find 

 and show that it is skew symmetric.

Watch Video Solution

A =
⎡
⎢
⎣

2 3 −1

−1 4 2

6 0 8

⎤
⎥
⎦

A − AT

16. Consider the matrix  Express

A as the sum of a symmetric and skew-symmetric

matrics.

Watch Video Solution

A =
⎡
⎢
⎣

2 3 −1

−1 4 2

6 0 8

⎤
⎥
⎦

https://dl.doubtnut.com/l/_fadr5ZKFnzOL
https://dl.doubtnut.com/l/_7cS1ywuN7Dp9


17. Use matrix multiplication to divide Rs 30,000 in

two parts such that the total annual interest at 9% on

the first part and at 11% on the second part amounts

to Rs 3060.

Watch Video Solution

18. If , . If 

, Prove that BA+AB=0.

Watch Video Solution

A = [
1 −1

2 −1
]B = [

a 1

b −1
]

(A + B)
2

= A2 + B2

https://dl.doubtnut.com/l/_7sgz8p2jzsMR
https://dl.doubtnut.com/l/_fa9n8z2sbOCY


19. If ,  and

 .Find a and b.

Watch Video Solution

A = [
1 −1

2 −1
]B = [

a 1

b −1
]

(A + B)
2

= A2 + B2

20. If  and  Find out

the product AB.

Watch Video Solution

A =
⎡
⎢
⎣

−1

2

3

⎤
⎥
⎦

B = [ − 2 − 1 − 4]

https://dl.doubtnut.com/l/_nJ4Kua7L6jTk
https://dl.doubtnut.com/l/_UEUN58yAFD2q


21. If  and  Find 

and .

Watch Video Solution

A =
⎡
⎢
⎣

−1

2

3

⎤
⎥
⎦

B = [ − 2 − 1 − 4] AT

BT

22. If  and  Verify that

Watch Video Solution

A =
⎡
⎢
⎣

−1

2

3

⎤
⎥
⎦

B = [ − 2 − 1 − 4]

(AB)T = BT . AT

https://dl.doubtnut.com/l/_nu4MFGctixp7
https://dl.doubtnut.com/l/_mSRWBR1tGwvp


23. Consider the matrices ,

,  Find AB.

Watch Video Solution

A = [1, x, 1]

B =
⎡
⎢
⎣

1 3 2

2 5 1

15 3 2

⎤
⎥
⎦
C =

⎡
⎢
⎣

1

2

x

⎤
⎥
⎦

24. Consider 

A=  


Find x if ABC=0.

Watch Video Solution

[ 1 x 1 ], B =
⎡
⎢
⎣

1 3 2

2 5 1

15 3 2

⎤
⎥
⎦

, C =
⎡
⎢
⎣

1

2

x

⎤
⎥
⎦

https://dl.doubtnut.com/l/_TjhtBwAMD13F
https://dl.doubtnut.com/l/_73ZzVhON8w1I


25.  is a third order square matrix and 

 

Construct the matrix  .

Watch Video Solution

A

aij = {
− i + 2j if i = j

i × j if i ≠ j

A

26.  is a third order square matrix and 

 and 

 


Interpret the matrix  .

Watch Video Solution

A

aij = {
− i + 2j if i = j

i × j if i ≠ j

B =
⎡
⎢
⎣

2 1 1

1 1 5

1 5 2

⎤
⎥
⎦

A

https://dl.doubtnut.com/l/_FXWfFpq9Lg8J
https://dl.doubtnut.com/l/_B9QtloAWMl0P
https://dl.doubtnut.com/l/_ignkeGWE5MQA


27. Let A is a third order square matrix given by

 If  then find

AB-BA.

Watch Video Solution

aij = {
− i + 2j i = j

i × j i ≠ j
B =

⎡
⎢
⎣

2 1 1

1 1 5

1 5 2

⎤
⎥
⎦

28.  is a third order square matrix and 

 and 

 


Interpret the matrix  .

Watch Video Solution

A

aij = {
− i + 2j if i = j

i × j if i ≠ j

B =
⎡
⎢
⎣

2 1 1

1 1 5

1 5 2

⎤
⎥
⎦

AB − BA

https://dl.doubtnut.com/l/_ignkeGWE5MQA
https://dl.doubtnut.com/l/_GL4A1NZfBK4J
https://dl.doubtnut.com/l/_NH0cTBpmiwHk


29. Find the inverse of matrices 

Watch Video Solution

[
1 −1

2 3
]

30. if , then prove that





where  is any positive integer.

Watch Video Solution

A = [
3 −4

1 ( − 1)
]

An = [
1 + 2n −4n

n 1 − 2n
]

n

31. For what values of

x : [ 1 2 1 ]
⎡
⎢
⎣

1 2 0

2 0 1

1 0 2

⎤
⎥
⎦

⎡
⎢
⎣

0

2

x

⎤
⎥
⎦

= 0?

https://dl.doubtnut.com/l/_NH0cTBpmiwHk
https://dl.doubtnut.com/l/_W8TM4GlNQWsw
https://dl.doubtnut.com/l/_gWlIZuipmteO


Watch Video Solution

32. Using elementary row transformations, find the

inverse of the matrix if it exists.

Watch Video Solution

[
2 1

4 2
]

33. Let  Find out I+A and

I-A.

Watch Video Solution

A = [
0 −tanx/2

tanx/2 0
]

https://dl.doubtnut.com/l/_gWlIZuipmteO
https://dl.doubtnut.com/l/_trM68GsJQaQs
https://dl.doubtnut.com/l/_dAKqsmvV6Onn


34. If  and  is the

identity matrix of order 2 ,
 show that

Watch Video Solution

A =
⎡
⎢
⎣

0 −tan( )

tan( ) 0

⎤
⎥
⎦

α

2

α

2

I

I + A = (I − A)[
cosα −sinα

sinα cosα
]

35.  is a third order square matrix and 

 

Construct the matrix  .

Watch Video Solution

A

aij = {
− i + 2j if i = j

i × j if i ≠ j

A

https://dl.doubtnut.com/l/_swTH3PKeHvca
https://dl.doubtnut.com/l/_Oal3niWvx56k


36.  is a third order square matrix and 

 and 

 


Interpret the matrix  .

Watch Video Solution

A

aij = {
− i + 2j if i = j

i × j if i ≠ j

B =
⎡
⎢
⎣

2 1 1

1 1 5

1 5 2

⎤
⎥
⎦

A

37. Let A is a third order square matrix given by

 If  then find

AB-BA.

Watch Video Solution

aij = {
− i + 2j i = j

i × j i ≠ j
B =

⎡
⎢
⎣

2 1 1

1 1 5

1 5 2

⎤
⎥
⎦

https://dl.doubtnut.com/l/_MQ0IRH8E1THe
https://dl.doubtnut.com/l/_baujJQR3MA4h


38.  is a third order square matrix and 

 and 

 


Interpret the matrix  .

Watch Video Solution

A

aij = {
− i + 2j if i = j

i × j if i ≠ j

B =
⎡
⎢
⎣

2 1 1

1 1 5

1 5 2

⎤
⎥
⎦

AB − BA

39. If   Find the

order of matrix A.

Watch Video Solution

⎡
⎢
⎣

2 −1

1 0

−3 4

⎤
⎥
⎦
A =

⎡
⎢
⎣

−1 −8 −10

1 −2 −5

9 22 15

⎤
⎥
⎦

https://dl.doubtnut.com/l/_UYZGR7HoCZUJ
https://dl.doubtnut.com/l/_pTuardY6KoPu
https://dl.doubtnut.com/l/_gnx9psZ2EY1n


40. If   Find the

matrix A, using the idea of equality of matrices.

Watch Video Solution

⎡
⎢
⎣

2 −1

1 0

−3 4

⎤
⎥
⎦
A =

⎡
⎢
⎣

−1 −8 −10

1 −2 −5

9 22 15

⎤
⎥
⎦

41. Find the inverse of matrices 

Watch Video Solution

[
1 −1

2 3
]

42. ,then find x

Watch Video Solution

sin− 1(1 − x) − 2 sin− 1 x =
π

2

https://dl.doubtnut.com/l/_gnx9psZ2EY1n
https://dl.doubtnut.com/l/_xc03EKz8gC30
https://dl.doubtnut.com/l/_MyV7YmYlxeow
https://dl.doubtnut.com/l/_qOmiud5nQs7f


43. Find the matrix  so that


Watch Video Solution

X

X[
1 2 3

4 5 6
] = [

−7 −8 −9

2 4 6
]

44. If , then the values of x, y

and z are respectively

Watch Video Solution

⎡
⎢
⎣

x − y − z

−y + z

z

⎤
⎥
⎦

=
⎡
⎢
⎣

0

5

3

⎤
⎥
⎦

45. If  find 

Watch Video Solution

B = [
2 3

1 0
] B2

https://dl.doubtnut.com/l/_qOmiud5nQs7f
https://dl.doubtnut.com/l/_nWHDrm8i4DSe
https://dl.doubtnut.com/l/_KQQbRcmlmcWM


46. If  if  is the identity matrix, then

find x.

Watch Video Solution

A = [
x 1

1 0
] A2

47. If U=[2 -3 4],  X=[0 2 3],  then

find UV,XY,UV+XY.

Watch Video Solution

V =
⎡
⎢
⎣

3

2

1

⎤
⎥
⎦

Y =
⎡
⎢
⎣

2

2

4

⎤
⎥
⎦

48. What must be the matrix X if

2X + [
1 2

3 4
] = [

3 8

7 2
]

https://dl.doubtnut.com/l/_k9qvU5IG1qB9
https://dl.doubtnut.com/l/_IHLk2W4nqDZm
https://dl.doubtnut.com/l/_aqvAgCEoDfPP


Watch Video Solution

49. If   then find the

value of x.

Watch Video Solution

[1  x  1]
⎡
⎢
⎣

1 2 3

0 5 1

0 3 2

⎤
⎥
⎦

⎡
⎢
⎣

x

1

−2

⎤
⎥
⎦

= 0

50. If  where , then A is equal

to a)  b)  c)  d)

A. 

B. 

A = [aij]2 × 2
aij = i + j

[
1 1

2 2
] [

1 2

1 2
] [

1 2

3 4
] [

2 3

3 4
]

[
1 1

2 2
]

[
1 2

1 2
]

https://dl.doubtnut.com/l/_aqvAgCEoDfPP
https://dl.doubtnut.com/l/_1YDi1eFYKQOW
https://dl.doubtnut.com/l/_1JTa7SSJCjP7


C. 

D. 

Answer:

Watch Video Solution

[
1 2

3 4
]

[
2 3

3 4
]

51.  is a a)Symmetric matrix b)Skew-symmetric

matrix c)null matrix d)identity matrix

A. Symmetric matrix

B. Skew-symmetric matrix

C. null matrix

[
2 3

3 4
]

https://dl.doubtnut.com/l/_1JTa7SSJCjP7
https://dl.doubtnut.com/l/_55xI9IAQWV14


D. identify matrix

Answer:

Watch Video Solution

52. If  and  then A+B is

equal to-

A. 

B. 

C. 

D. 

A = [
3 −2

2 5
] B = [

7 8

−6 3
]

[
21 −16

−12 15
]

[
10 6

−4 8
]

[
1 1

1 1
]

[
1 0

0 1
]

https://dl.doubtnut.com/l/_55xI9IAQWV14
https://dl.doubtnut.com/l/_PEXo2UanZTDD


Answer:

Watch Video Solution

53. If  and  then  is

equal to

a)  b) 


c)  d)

A. 

B. 

C. 

D. 

A = [
10 6

−4 8
] I2 = [

1 0

0 1
] AI2

[
10 6

−4 8
] [

21 −16

−12 15
]

[
1 1

1 1
] [

1 0

0 1
]

[
10 6

−4 8
]

[
21 −16

−12 15
]

[
1 1

1 1
]

[
1 0

0 1
]

https://dl.doubtnut.com/l/_PEXo2UanZTDD
https://dl.doubtnut.com/l/_hdhyKPPmBTvp


Answer:

Watch Video Solution

54. If A is square matrix, A', is its transpose, then

 is 


a)a Symmetric matric b)a skew-symmetrix matrix 

c)a unit matrix d)a null matrix

A. A Symmetric matric

B. a skew-symmetrix matrix

C. a unit matrix

D. a null matrix

(A − A' )
1

2

https://dl.doubtnut.com/l/_hdhyKPPmBTvp
https://dl.doubtnut.com/l/_cr8iDTCcj3rX


Answer:

Watch Video Solution

55. Let A and B be two symmetric matrices of same

order. Then show that AB-BA is a skew-symmetric

matrix.

Watch Video Solution

56.  , then 


Find  and 

Watch Video Solution

A =
⎡
⎢
⎣

1 2 2

2 1 2

2 2 1

⎤
⎥
⎦

4A A2

https://dl.doubtnut.com/l/_cr8iDTCcj3rX
https://dl.doubtnut.com/l/_31bFM7Xppfaf
https://dl.doubtnut.com/l/_oMOLOZYcm6dj


Watch Video Solution

57.  , then show that 

Watch Video Solution

A =
⎡
⎢
⎣

1 2 2

2 1 2

2 2 1

⎤
⎥
⎦

A2 − 4A = 5I3

58. If  and 

. Show that 

Watch Video Solution

A = [
cos2 α cosα sinα

cosα sinα sin2 α
]

B = [
cos2 β cos β sinβ

cos β sinβ sin2 β
]

AB = [
cosα cos β cos(α − β) sinβ cosα cos(α − β)

cos β sinα cos(α − β) sinβ sinα cos(α − β)
]

https://dl.doubtnut.com/l/_oMOLOZYcm6dj
https://dl.doubtnut.com/l/_UEjDToGpduqR
https://dl.doubtnut.com/l/_yIBC69NA1htG


59. Let  Find 

Watch Video Solution

A = [
0 a

b 0
] A2

60. Let  If  then show that ab=1.

Watch Video Solution

A = [
0 a

b 0
] A4 = I2

61. Of the matrices  and 

 Find , ,

Watch Video Solution

A = [
2 1 3

4 1 0
]

B =
⎡
⎢
⎣

1 −1

0 2

5 0

⎤
⎥
⎦

ABBT (AB)
T

https://dl.doubtnut.com/l/_ttkEui9fcQGh
https://dl.doubtnut.com/l/_YEhTXDfI4BXV
https://dl.doubtnut.com/l/_ed3oVnoX69ny


62. Let  and  


Show that 

Watch Video Solution

A = [
2 1 3

4 1 0
] B =

⎡
⎢
⎣

1 −1

0 2

5 0

⎤
⎥
⎦

(AB)T = BTAT

63. If a matrix has 5 elements, write all possible order

it can have.

Watch Video Solution

64. Consider the matrix  Express the

matrix as A=IA.

A = [
3 10

2 7
]

https://dl.doubtnut.com/l/_D8X9xCLFjfT1
https://dl.doubtnut.com/l/_eMPorKzlxkpz
https://dl.doubtnut.com/l/_b8NDsE6fVxhP


Watch Video Solution

65. Consider the matrix  Find 

using elementary row transformations.

Watch Video Solution

A = [
3 10

2 7
] A− 1

66. If , prove that 

 .

Watch Video Solution

A =
⎡
⎢
⎣

1 1 1

1 1 1

1 1 1

⎤
⎥
⎦

An =
⎡
⎢
⎢
⎣

3n− 1 3n− 1 3n− 1

3n− 1 3n− 1 3n− 1

3n− 1 3n− 1 3n− 1

⎤
⎥
⎥
⎦
n ∈ N

https://dl.doubtnut.com/l/_b8NDsE6fVxhP
https://dl.doubtnut.com/l/_tIQl7m9vmwTg
https://dl.doubtnut.com/l/_luE8atu1Brgp
https://dl.doubtnut.com/l/_CiGPo7xoIaqP


67. If  Find 

Watch Video Solution

A = [
cos θ sin θ

−sin θ cos θ
] A2

68. If , then prove that 

, .

Watch Video Solution

A = [
cos θ sin θ

−sin θ cos θ
]

An = [
cos nθ sinnθ

−sinnθ cos nθ
] n ∈ N

69.  Show that

Watch Video Solution

F (x) =
⎡
⎢
⎣

cos x −sinx 0

sinx cos x 0

0 0 1

⎤
⎥
⎦

F (x)F (y) = F (x + y)

https://dl.doubtnut.com/l/_CiGPo7xoIaqP
https://dl.doubtnut.com/l/_bvhRK1n3TX7w
https://dl.doubtnut.com/l/_IW7qUVIUEYnz


70.  Show that

Watch Video Solution

F (x) =
⎡
⎢
⎣

cos x −sinx 0

sinx cos x 0

0 0 1

⎤
⎥
⎦

F (x)F (y) = F (x + y)

71.  Show that

Watch Video Solution

F (x) =
⎡
⎢
⎣

cos x −sinx 0

sinx cos x 0

0 0 1

⎤
⎥
⎦

F (x)F (y) = F (x + y)

https://dl.doubtnut.com/l/_IW7qUVIUEYnz
https://dl.doubtnut.com/l/_klvO3Px4P6Qv
https://dl.doubtnut.com/l/_eiLiYUnaQqx4


72. Write two non-zero matrices A and B for which

.

Watch Video Solution

AB = 0

73. Express  as the sum of a symmetric

matrix and a skew symmetric matrix.

Watch Video Solution

A = [
1 −1

2 3
]

74. Let  where . construct A.

Watch Video Solution

A = [aij]2 × 3
aij= i+ j

https://dl.doubtnut.com/l/_VgUrQYmstK0E
https://dl.doubtnut.com/l/_4n51LVHOL4vi
https://dl.doubtnut.com/l/_f2oD6z0XCaJ2


75. For any square matrix A,prove that `A+A' is

symmetric.

Watch Video Solution

76. If A is a skew symmetric matrix of order 3. Then

prove that it's determinant is zero. (without using

examples).

Watch Video Solution

https://dl.doubtnut.com/l/_ocw1eqlmmUZ5
https://dl.doubtnut.com/l/_o2zWiZvSg9Pg


77. Given  is a singular matrix. Find

the value of x

Watch Video Solution

∣
∣
∣
∣

2 + x 3 4

1 −1 2

x 1 5

∣
∣

∣
∣

78. Given A and B are square matrices of order 2 such

that , . Find .

Watch Video Solution

|A| = − 1 |B| = 3 |3AB|

https://dl.doubtnut.com/l/_pTPTPl2chTGx
https://dl.doubtnut.com/l/_X4D0G2pfqsc8


79. For the symmetric matrix .Find

the value of x and y .

Watch Video Solution

A =
⎡
⎢
⎣

2 x 4

5 3 8

4 y 9

⎤
⎥
⎦

80. If  . Show that  


Hence find  and  .

Watch Video Solution

A = [
3 1

−1 2
] A2 − 5A + 7I = 0

A4 A− 1

81. Using elementary row operations, find the inverse

of the matrix 

https://dl.doubtnut.com/l/_731Vv52ftWtl
https://dl.doubtnut.com/l/_z88kxnEQE9VQ
https://dl.doubtnut.com/l/_hINXkcCJnXTm


Watch Video Solution

[
1 2

2 −1
]

82. Find x and y if 

Watch Video Solution

x[
2

3
] + y[

−1

1
] = [

10

5
]

83. Express the matrix 

 


as the sum of a symmetric and a skew symmetric

matrices.

⎡
⎢
⎣

2 −2 −4

−1 3 4

1 −2 −3

⎤
⎥
⎦

https://dl.doubtnut.com/l/_hINXkcCJnXTm
https://dl.doubtnut.com/l/_XhI0csiYMWqi
https://dl.doubtnut.com/l/_g0bYjMDzJ9uJ


Watch Video Solution

84. The value of k such that matrix  is

symmetric if

A. 0

B. 1

C. -1

D. 2

Answer:

Watch Video Solution

[
1 k

−k 1
]

https://dl.doubtnut.com/l/_g0bYjMDzJ9uJ
https://dl.doubtnut.com/l/_EcwjrGGa3KlL
https://dl.doubtnut.com/l/_RWBrPn9VJyfE


85. If  then prove that 


Watch Video Solution

A = [
cos θ sin θ

−sin θ cos θ
]

A2 = [
cos 2θ sin 2θ

−sin 2θ cos 2θ
]

86. If  , then find 

Watch Video Solution

A = [
1 3

4 1
] ∣∣3A

T ∣∣

87. If A=  ,B= , then BA=

A. 

B. 

[
0 1

0 0
] [

1 0

0 0
]

[
1 0

0 1
]

[
0 1

1 0
]

https://dl.doubtnut.com/l/_RWBrPn9VJyfE
https://dl.doubtnut.com/l/_ymefswws8UJX
https://dl.doubtnut.com/l/_ksZDY5fCX9Jh


C. 

D. 

Answer:

Watch Video Solution

[
0 1

0 0
]

[
0 0

0 0
]

88. Write  as the sum of a symmetric

and a skew symmetric matrix.

Watch Video Solution

A = [
3 5

1 −1
]

89. Find the inverse of A = [
2 −6

1 −2
]

https://dl.doubtnut.com/l/_ksZDY5fCX9Jh
https://dl.doubtnut.com/l/_u2bEueWNIRF2
https://dl.doubtnut.com/l/_7bMat9sDUZwW


Watch Video Solution

90. Choose the correct statement related to 

the matrices ,

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

A = [
1 0

0 1
]B = [

0 1

1 0
]

A3 = A, B3 ≠ B

A3 ≠ A, B3 = B

A3 = A, B3 = B

A3 ≠ A, B3 ≠ B

https://dl.doubtnut.com/l/_7bMat9sDUZwW
https://dl.doubtnut.com/l/_rmLMN88dh0e7
https://dl.doubtnut.com/l/_6DBFYCla3Vyl


91. If ,then verify the equation 


Watch Video Solution

M = [
7 5

2 3
]

M 2 − 10M + 11I2 = 0

92. Consider the matrices 

 and  


If  , find the values of a,b,c,d

Watch Video Solution

A = [
1 −2

−1 3
] B = [

a b

c d
]

AB = [
2 9

5 6
]

93. Let  and  Find

AB.

A = [
2 4

1 −3
] B = [

1 −1 5

0 2 6
]

https://dl.doubtnut.com/l/_6DBFYCla3Vyl
https://dl.doubtnut.com/l/_aWL1W8ODhw98
https://dl.doubtnut.com/l/_1bMPbfDIoYqX


Watch Video Solution

94. Let  and Is BA

defined? Justify your answer.

Watch Video Solution

A = [
2 4

1 −3
] B = [

1 −1 5

0 2 6
]

95. If  then 


Find 

Watch Video Solution

A = [
3 1

−1 2
]

A2

https://dl.doubtnut.com/l/_1bMPbfDIoYqX
https://dl.doubtnut.com/l/_eIU0CW0jcb8h
https://dl.doubtnut.com/l/_JDUcSjZHu7HG


96. If  then 


Hence show that 

Watch Video Solution

A = [
3 1

−1 2
]

A2 − 5A + 7I = 0

97. If A is a square matrix such that , then

(I+A)^2-3A is equal to

a)A b)I-A c)I d)3A

A. A

B. I-A

C. I

D. 3A

A2 = A

https://dl.doubtnut.com/l/_FZRYFwRyG6bd
https://dl.doubtnut.com/l/_JROANifywgTU


Answer:

Watch Video Solution

98. Find  if 

Watch Video Solution

A2 − 5A + 6I A =
⎡
⎢
⎣

2 5 8

6 0 5

0 −2 0

⎤
⎥
⎦

99. Consider the matrices  and 

 Find A+B.

Watch Video Solution

A =
⎡
⎢
⎣

2 1 3

2 3 1

1 1 1

⎤
⎥
⎦

B =
⎡
⎢
⎣

−1 2 3

−2 3 1

1 1 1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_JROANifywgTU
https://dl.doubtnut.com/l/_XxsePOGViFLV
https://dl.doubtnut.com/l/_goKtQxg2O0Wg


100. Consider the matrix 

  


Find 

Watch Video Solution

A =
⎡
⎢
⎣

2 1 3

2 3 1

1 1 1

⎤
⎥
⎦
B =

⎡
⎢
⎣

−1 2 3

−2 3 1

−1 1 1

⎤
⎥
⎦

(A + B)(A − B)

101. Let  be  matrix Find 

Watch Video Solution

A =
⎡
⎢
⎣

0 2β γ

α β −γ

α −β γ

⎤
⎥
⎦

3 × 3

AT

https://dl.doubtnut.com/l/_goKtQxg2O0Wg
https://dl.doubtnut.com/l/_55SOsezgsh2y
https://dl.doubtnut.com/l/_Uu6QRhVUgmxw


102. Let  be  matrix If 

alpha,beta and gamma`is -

Watch Video Solution

A =
⎡
⎢
⎣

0 2β γ

α β −γ

α −β γ

⎤
⎥
⎦

3 × 3

AT . A = 6I, then

103. Let  


Show that 

Watch Video Solution

A = [
3 1

−1 2
]

A2 − 5A + 7I = 0

104. If  and  are symmetric matrices, prove that

 is a skew symmetric matrix.

A B

AB − BA

https://dl.doubtnut.com/l/_5rEy6yexSNDq
https://dl.doubtnut.com/l/_PPX5mKmcQlfC
https://dl.doubtnut.com/l/_WqzwH0qYkZlV


Watch Video Solution

105. Find a  matrix A where 

Watch Video Solution

2 × 2 aij = i + j

106. If , then find the

value of k.

Watch Video Solution

[
1 2

3 4
][

3 1

2 5
] = [

7 11

k 23
]

https://dl.doubtnut.com/l/_WqzwH0qYkZlV
https://dl.doubtnut.com/l/_BhVizdPa7KJd
https://dl.doubtnut.com/l/_37UVrBTmc65c


107. Find the inverse of the following matrix using

elementary operations 

Watch Video Solution

A =
⎡
⎢
⎣

1 2 −2

−1 3 0

0 −2 1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_U5XA1qGRmMtr

